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Gate delay time test, to answer if analog signal is linear without gate.
10min integration time for each data
Two data have 3min time difference
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Constant gate for channel-1 of both datal and data2. So the ratio of data2 over datal should only reflect the
atmospheric variation. We use the cha-1 as a reference. The max analog data of channel-1 doesn't reach the
ADC limit, (200mV for channel-1, 500mV for channel-2 and 5). We notice the max photoncounting data is
~120MHz. We can calculate the true counting rate is 300MHz. The max counting rate of LICEL is 250MHz.
285 UV power is 70mW and 291 is 61mW. 285 data looks higher than 291 because of both power and
alignment.
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For channel-2 datal doesn't have delay. Data 2 has ~1us delay. The delay for 285 and 291 is not
exactly the same.
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For cha-5, datal has ~10us delay and data 2 has 13us delay.
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	Text1: Gate delay time test, to answer if analog signal is linear without gate.
10min integration time for each data
Two data have 3min time difference 
	Text2: Constant gate for channel-1 of both data1 and data2. So the ratio of data2 over data1 should only reflect the atmospheric variation. We use the cha-1 as a reference. The max analog data of channel-1 doesn't reach the ADC limit, (100mV for channel-1, 500mV for channel-2 and 5). We notice the max photoncounting data is ~120MHz. We can calculate the true counting rate is 300MHz. The max counting rate of LICEL is 250MHz. 
285 UV power is 70mW and 291 is 61mW. 285 data looks higher than 291 because of both power and alignment. 
	Text3: The ratio '1' of analog data after 1km doesn't mean that there is no atmospheric variation between two data sets. It is because analog data doesn't have enough dynamic range. 
	Text10: Peak is less than ADC limit ~500mV
	Text4: For channel-2 data1 doesn't have delay. Data 2 has ~1us delay. The delay for 285 and 291 is not exactly the same. 
	Text5: different x range with channel 1
	Text6: It indicate there's a time offset between analog and phtcnting. ~25m. We will investigate it later. The problem is if this offset varies with range. 
	Text8: Is this due to atmospheric variation? Yes.
	Text9: The max counting rate of cha-5 is ~80MHz, less than cha-1 or 2. This is due to different PMTs. 
	Text11: I expect the ratio after 2.5km is approx. constant. I expect analog behaves similarly as phtcnt (increasing ratio due to stronger SIB of data1). But this structure says data1 analog decay  faster than data2. From this comparison, you can't tell which one is wrong. Seems data1 is more correct from the ozone retrieval. 
	Text12: For cha-5, data1 has ~10us delay and data 2 has 13us delay. 
	Text14: The diff of two data is due to atm variation since no configuration change. 
	Text15: We can use the ratio of cha-2 as a reference for cha-5 especially 291 signal since 291 decays slower. Constant ratio suggests no big atm variation. But PMTs of cha-5 and cha-2 are diff. Diff SIB!
	Text16: Data1 SIB is larger and decays slower than data2 SIB. This suggests the slope of SIB fitting for different signal strength should be different. For phtcnt data, we probably should only look at the signal lower than 50MHz.


